Multiply by Positive Powers of Ten (I)

Find each product.

13 X 100 = 85 % 1,000 =
49 x 1,000 = 85 x 100 =
86 X 10 = 24 x 10 =
29 X 1,000 = 53 x 100 =
25 %10 = 43 x 10 =
23X 10 = 74 X 100 =
63 X 1,000 = 98 x 1,000 =
9x10= 13 x 1,000 =
78 X 100 = 38 X 10 =
73 X 100 = 60 X 1,000 =
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Multiply by Positive Powers of Ten (I) Answers

Find each product.

13 x100=1,300 85 x 1,000 = 85,000
49 x 1,000 = 49,000 85 x 100 = 8,500
86 X 10 =860 24 x 10 =240

29 x 1,000 = 29,000 53 x 100 = 5,300
25 x 10 =250 43 X 10=430

23 x10=230 74 x 100 =17,400
63 X 1,000 = 63,000 98 X 1,000 = 98,000
9x10=90 13 x 1,000 =13,000
78 x 100 =7,800 38 x 10 =380

73 x 100 =17,300 60 x 1,000 = 60,000
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